

## KING'S OWN INSTITUTE\*

**Success in Higher Education** 



26 April 2024

**TUITION FEES** (in Australian dollars) (Current for 2024) (Fees are indicative and should be used as a guide only)

**INTAKES** King's Own Institute (KOI) has 3 intakes per year:

- Trimester 1 March intake Autumn/Winter
- Trimester 2 July intake and August Intensive intake Winter/Spring
- Trimester 3 November intake Summer

Students may commence study in any trimester. Please see the KOI website www.koi.edu.au or contact KOI Marketing marketing@koi.edu.au for specific trimester commencement dates.

## **TUITION FEES**

The following is a list of all subjects (undergraduate and postgraduate) available for study across all courses at King's Own Institute (KOI) in 2024 (as at 26 April 2024) – KOI reserves the right to vary fees as permitted under the *Higher Education Support Act 2003*) and their Equivalent Full Time Study Load (EFTSL) Value per subject.

Trimester subject availability is determined before enrolments each trimester. KOI cannot guarantee all subjects will be available for all trimesters – availability is dependent on enrolment expectations and whether the subject is core or elective.

The KOI Subject Tuition Fees table may be used as a guide to calculate your trimester fees. Please see the Course and Subject Descriptions under the 'Courses' Tab at www.koi.edu.au to see which subjects are relevant to your course.

The EFTSL Value per subject is calculated as a proportion of a normal full-time study load (EFTSL= 1) of 8 subjects per calendar year, i.e. the EFTSL Value of a single weight subject is 1/8 = 0.125, a double weight subject is  $1/8 \times 2 = 0.250$ .

For full course fees, please see the *Current Course Tuition Fees* available at http://koi.edu.au/wp/future- students/fees-payment/.

## **KOI Subject Tuition Fees**

UNDERGRADUATE UNITS OF STUDY			Sydney Campus		Newcastle Campus	
		EFTSL	Cost per 1 EFTSL	Unit of Study Tuition Fee	Cost per 1 EFTSL	Unit of Study Tuition Fee
Unit of Study Name	Unit of Study Name	Value	(= 8 Units/Year)	(All Students All Courses)	(= 8 Units/Year)	(All Students All Courses)
ACC100	Introduction to Accounting	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
ACC101	Introduction to Financial Accounting	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
ACC200	Introduction to Management Accounting	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
ACC201	Financial Accounting	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
ACC202	Management Accounting	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
ACC203	Accounting Information Systems	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
ACC204	Corporate Accounting and Reporting	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
ACC300	Auditing and Assurance Services	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
ACC301	Tax Law	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
ACC303	Contemporary Issues in Accounting	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
BUS100	Professional Communication Skills	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
BUS101	Introduction to Business Law	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
ECO100	Introduction to Economics	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
BUS104	Introduction to Marketing	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
BUS105	Business Statistics	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
BUS200	Law of Business Organisations	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
BUS300	Business Ethics and Sustainability	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
BUS302	Entrepreneurship	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
BUS303	Business Project	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
BUS304	Consumer Behaviour	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
FIN200	Corporate Financial Management	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
FIN201	Investment Management	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
FIN203	Banking and Finance	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
FIN204	Microfinance	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
MGT100	Introduction to Management	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
MGT200	Organisational Behaviour	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
MGT201	Cross Cultural Management	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
MGT202	The Learning Organisation	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
MGT203	Operations Management	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
MGT300	Logistics Management	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
MGT301	Change Management	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
MGT302	Strategic Management	0.125	\$14,500.00	\$1,812.50	\$13,500.00	\$1,687.50
ICT100	Foundations of Information Systems	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50

ICT101	Foundation Mathematics for IT	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50
ICT102	Introduction to Programming	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50
ICT103	Systems Analysis and Design	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50
ICT104	Program Design and Development	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50
ICT106	Data Communication and Networks	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50
ICT200	Database Design and Development	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50
ICT201	Computer Organisation and Architecture	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50
ICT203	Human Computer Interaction	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50
ICT204	Project Management	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50
ICT205	Cyber Security	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50
ICT272	Web Design and Development	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50
ICT274	E-commerce	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50
ICT275	Innovation and Technology Management	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50
ICT301	Information Technology Project 1	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50
ICT302	Information Technology Project 2	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50
ICT303	Professional Ethics in Computing	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50
ICT304	Enterprise Systems and Architecture	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50
ICT370	Data Analytics	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50
ICT371	Artificial Intelligence	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50
ICT372	Mobile Computing	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50
ICT373	Cloud Computing	0.125	\$15,500.00	\$1,937.50	\$14,500.00	\$1,812.50

POST	GRADUATE UNITS OF STUDY		Sydney C	Campus	Newcastl	e Campus
Unit of		EFTSL	Cost per 1 EFTSL	Unit of Study Tuition Fee	Cost per 1 EFTSL	Unit of Study Tuition Fee
Study Name	Unit of Study Name	Value	(= 8 Units/Year)	(All Students All Courses)	(= 8 Units/Year)	(All Students All Courses)
ACC700	Principles of Accounting	0.125	\$16,500.00	\$2,062.50	\$15,500.00	\$1,937.50
ACC701	Financial Accounting	0.125	\$16,500.00	\$2,062.50	\$15,500.00	\$1,937.50
ACC702	Managerial Accounting	0.125	\$16,500.00	\$2,062.50	\$15,500.00	\$1,937.50
ACC703	Accounting Information Systems	0.125	\$16,500.00	\$2,062.50	\$15,500.00	\$1,937.50
ACC704	Companies and Securities Law	0.125	\$16,500.00	\$2,062.50	\$15,500.00	\$1,937.50
ACC705	Corporate Accounting	0.125	\$16,500.00	\$2,062.50	\$15,500.00	\$1,937.50
ACC706	Accounting Theory and Issues	0.125	\$16,500.00	\$2,062.50	\$15,500.00	\$1,937.50
ACC707	Auditing and Assurance	0.125	\$16,500.00	\$2,062.50	\$15,500.00	\$1,937.50
ACC708	Taxation Law	0.125	\$16,500.00	\$2,062.50	\$15,500.00	\$1,937.50
BUS700	Economics	0.125	\$16,500.00	\$2,062.50	\$15,500.00	\$1,937.50
BUS702	Business Law	0.125	\$16,500.00	\$2,062.50	\$15,500.00	\$1,937.50
BUS707	Applied Business Research	0.125	\$16,500.00	\$2,062.50	\$15,500.00	\$1,937.50
BUS708	Statistics and Data Analysis	0.125	\$16,500.00	\$2,062.50	\$15,500.00	\$1,937.50
BUS709	Communication in Business	0.125	\$16,500.00	\$2,062.50	\$15,500.00	\$1,937.50
BUS710	Research Project	0.125	\$16,500.00	\$2,062.50	\$15,500.00	\$1,937.50
FIN700	Financial Management	0.125	\$16,500.00	\$2,062.50	\$13,500.00	\$1,687.50
ICT700	Introduction to Business Information Systems	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT701	Programming Fundamentals	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT702	Introduction to Database Design	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT703	Information Systems Analysis and Design	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT710	IT Governance and Emerging Technologies	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT711	Programming and Algorithms	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT712	Information Technology Project Management	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT713	Advanced Database Design and Development	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT722	Information Security	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT723	Virtualisation and Cloud Computing	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT724	Intelligent systems	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT725	User Experience and Mobile Application Development	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT726	Web Development	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT728	Capstone Project 1	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT729	Capstone Project 2	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT730	Applied Analytics and Visualisation	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT731	Data Mining	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT732	Big Data	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00

r						
ICT733	Social Web Analytics	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT740	Applied Cybersecurity	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT741	Digital Forensics	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT742	Cloud Privacy and Security	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT743	IoT Security	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT750	Information Systems Professional Practice	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT751	User Experience Fundamentals	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT752	Enterprise Information Systems	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT753	Industry Project	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT761	Business Analytics and Business Intelligence	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT762	Data Analytics and Data Visualisation	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
ICT772	Cyber Security Governance, Risk and Compliance	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
TSL700	Language Teaching Methodologies	0.125	\$16,500.00	\$2,062.50	\$16,500.00	\$2,062.50
TSL701	Linguistics for Language Teaching	0.125	\$16,500.00	\$2,062.50	\$16,500.00	\$2,062.50
TSL702	Learning and Additional Language	0.125	\$16,500.00	\$2,062.50	\$16,500.00	\$2,062.50
TSL703	Phonology and the Teaching of Pronunciation	0.125	\$16,500.00	\$2,062.50	\$16,500.00	\$2,062.50
TSL704	TESOL Curriculum Development	0.125	\$16,500.00	\$2,062.50	\$16,500.00	\$2,062.50
TSL705	Language Testing and Assessment	0.125	\$16,500.00	\$2,062.50	\$16,500.00	\$2,062.50
TSL706	New Technologies and New Literacies in Language Teaching	0.125	\$16,500.00	\$2,062.50	\$16,500.00	\$2,062.50
TSL709	Literature and Language Teaching	0.125	\$16,500.00	\$2,062.50	\$16,500.00	\$2,062.50
TSL711	Intercultural Communication	0.125	\$16,500.00	\$2,062.50	\$16,500.00	\$2,062.50
TSL712	English for Academic and Specific Purposes	0.125	\$16,500.00	\$2,062.50	\$16,500.00	\$2,062.50
TSL713	Research Methods of TESOL	0.125	\$16,500.00	\$2,062.50	\$16,500.00	\$2,062.50
TSL714	Research Project	0.250	\$16,500.00	\$4,125.00	\$16,500.00	\$4,125.00
TSL715	Research Project	0.125	\$16,500.00	\$2,062.50	\$16,500.00	\$2,062.50
TSL716	Sociolinguistics and Language Teaching	0.125	\$16,500.00	\$2,062.50	\$16,500.00	\$2,062.50
TSL717	Computer-assisted Language Learning and	0.125	\$16,500.00	\$2,062.50	\$16,500.00	\$2,062.50
MGT700	Introduction to Business Management	0.125	\$18,000.00	\$2,250.00	\$17,000.00	\$2,125.00
MGT702	Human Resource Management	0.125	\$16,500.00	\$2,062.50	\$16,500.00	\$2,062.50
MBA901	Career Ownership	0.166	\$12,000.00	\$2,000.00	\$11,250.00	\$1875.00
MBA902	Leading Ethical, Sustainable and Responsible Enterprise	0.166	\$12,000.00	\$2,000.00	\$11,250.00	\$1875.00
MBA903	Personal Performance and Resilience	0.166	\$12,000.00	\$2,000.00	\$11,250.00	\$1875.00

MBA904	Human Centred Design	0.166	\$12,000.00	\$2,000.00	\$11,250.00	\$1875.00
MBA905	Research Principles and Methodologies	0.166	\$12,000.00	\$2,000.00	\$11,250.00	\$1875.00
MBA906	Financial Data Analysis and Management	0.166	\$12,000.00	\$2,000.00	\$11,250.00	\$1875.00
MBA907	Leading the Global and Collaborative Workforce	0.166	\$12,000.00	\$2,000.00	\$11,250.00	\$1875.00
MBA908	Designing and Leading Technology Centric Enterprises	0.166	\$12,000.00	\$2,000.00	\$11,250.00	\$1875.00
MBA909	Data Analytics	0.166	\$12,000.00	\$2,000.00	\$11,250.00	\$1875.00
MBA910	Data Driven Strategic Decision Making	0.166	\$12,000.00	\$2,000.00	\$11,250.00	\$1875.00
MBA911	Study Tour	0.166	\$12,000.00	\$2,000.00	\$11,250.00	\$1875.00
MBA912	Management Report	0.166	\$12,000.00	\$2,000.00	\$11,250.00	\$1875.00